

STATE OF THE ART MEETING SPACE MEETINGS MADE SIMPLE

Clayton Hotel Belfast

MEETINGS MADE SIMPLE

Clayton Hotel Belfast is long established as one of Belfast finest hotels. Located in the heart of Belfast's Linen Quarter area, an ideal location for your next meeting or event.

The venue is perfectly situated with easy access to Great Victoria Street Station, Belfast City Airport and Belfast city centre.

Our meeting and events centre can host conferences for up to 550 delegates. With 13 separate meeting and event spaces and high-tech facilities.

The versatile spaces will allow you to host different events and our extensive banqueting facilities mean we're ideally placed to cater for events of any size, from intimate events to gala balls.

Our dedicated team will be on hand to ensure your event runs smoothly.

We look forward to welcoming you.





Clayton Belfast offers all the additional facilities needed to make your event or meeting in Belfast enjoyable. Offering a choice of 170 luxury bedrooms.

Avenue22 Restaurant and bar offers the perfect selection of fresh dining options and drinks. Our Red Bean Roastery coffee shop serves a great cup of coffee.

Club Vitae Health Club allows guests and delegates to enjoy a 15m heated indoor swimming pool, sauna, steam room and fully functional gym.



Our meeting and events facility will combine modern meeting space design with the highest meeting equipment specifications

- 4k Project Screens- Clickshare Wireless Connectivity
- Wireless Microphone Systems
- Video Conferences Facilities
- Digital Signage Display your company branding
- Multi Room AV Setup/Configuration
- High Speed Broadband

SPACES, STYLES & MAXIMUM CAPACITIES

Room	Width & Length (m)	Area (m2)	Theatre	UShaped	Boardroom	Classroom	Cabaret	Dinner Dance (rounds 12)	Banquet rounds (12)*	Dinner Dance (long tables)	Reception	Natural Daylight
Meeting room 1	2.74×3.50	9.59	-	-	4	-	-	-	-	-	-	Yes
Meeting room 2	6.05 × 4.95	29.95	33	14	20	10	-	-	-	-	-	No
Meeting room 3	7.00 × 7.25	50.75	65	26	34	27	32	-	36	-	30	Yes
Meeting room 4	7.00 x 7.25	50.75	65	26	34	27	32	-	36	-	30	Yes
Meeting room 5	6.09 × 4.95	30.15	30	14	18	10	-	-	12	-	20	No
Meeting room 6	7.00 x 7.25	50.75	65	26	34	27	32	-	36	-	30	Yes
Meeting room 7	7.00 × 7.25	50.75	65	26	34	27	32	-	36	-	30	Yes
Boardroom	7.32 x 4.36	31.92	-	-	12	-	-	-	-	-	-	No
Titanic (whole suite)	8.95 × 14.85	132.91	120	-	-	70	72	84	96	120	150	Yes
Titanic 1	8.95 x 7.03	65.34	70	29	36	30	36	-	48	-	70	Yes
Titanic 2	8.95 x 7.03	65.34	70	29	36	30	36	-	48	-	70	Yes
Olympic (whole room)	31 x 12	372	550	-	-	218	270	252	324	350	600	Yes
Olympic 1	9.5 x 12	114	140	37	46	52	72	60	96	78	180	Yes
Olympic 2	15 x 12	180	200	49	58	88	108	96	144	144	280	Yes
Olympic 3	7.00 x 12	84	80	29	38	37	45	48	72	-	100	Yes

HOST YOUR EVENT

- Residential conferences
- Meetings
- Executive lunches

- Private functions
- Press launches
- Product launches

- Exhibitions
- Town Halls
- Training and development days

* no dancefloor or stage

SPACES, STYLES & MAXIMUM CAPACITIES - 1 METRE

Room	Width & Length (m)	Area (m2)	Theatre	UShaped	Boardroom	Classroom	Cabaret	Dinner Dance (rounds 12)	Banquet rounds (12)*	Dinner Dance (long tables)	Reception	Natural Daylight
Meeting room 1	2.74 x 3.50	9.59	-	-	2	-	-	-	-	-	-	Yes
Meeting room 2	6.05 x 4.95	29.95	12	7	8	9	-	-	-	-	-	No
Meeting room 3	7.00 × 7.25	50.75	30	12	14	18	12	-	15	-	-	Yes
Meeting room 4	7.00 × 7.25	50.75	30	12	14	18	12	-	15	-	-	Yes
Meeting room 5	6.09 x 4.95	30.15	12	9	10	9	-	-	-	-	-	No
Meeting room 6	7.00 × 7.25	50.75	30	12	14	18	12	-	15	-	-	Yes
Meeting room 7	7.00 × 7.25	50.75	30	12	14	18	12	-	15	-	-	Yes
Boardroom	7.32 x 4.36	31.92	-	-	8	-	-	-	-	-	-	No
Titanic (whole suite)	8.95 × 14.85	132.91	52	-	-	36	32	-	40	-	-	Yes
Titanic 1	8.95 x 7.03	65.34	28	13	18	18	16	-	20	-	-	Yes
Titanic 2	8.95 x 7.03	65.34	28	13	18	18	16	-	20	-	-	Yes
Olympic (whole room)	31 × 12	372	230	-	-	110	96	-	115	-	-	Yes
Olympic 1	9.5 x 12	114	60	17	24	28	30	-	35	-	-	Yes
Olympic 2	15 x 12	180	104	22	26	50	40	-	50	-	-	Yes
Olympic 3	7.00 x 12	84	46	12	18	18	16	-	20	-	-	Yes

HOST YOUR EVENT

- Residential conferences
- Meetings
- Executive lunches

- Private functions
- Press launches
- Product launches

- Exhibitions
- Town Halls
- Training and development days



* no dancefloor or stage

SPACES, STYLES & MAXIMUM CAPACITIES - 2 METRES

Room	Width & Length (m)	Area (m2)	Theatre	UShaped	Boardroom	Classroom	Cabaret	Dinner Dance (rounds 12)	Banquet rounds (12)*	Dinner Dance (long tables)	Reception	Natural Daylight
Meeting room 1	2.74 × 3.50	9.59	-	-	2	-	-	-	-	-	-	Yes
Meeting room 2	6.05 x 4.95	29.95	9	5	6	6	-	-	-	-	-	No
Meeting room 3	7.00 x 7.25	50.75	16	9	10	8	6	-	6	-	-	Yes
Meeting room 4	7.00 x 7.25	50.75	16	9	10	8	6	-	6	-	-	Yes
Meeting room 5	6.09 x 4.95	30.15	6	7	8	6	-	-	-	-	-	No
Meeting room 6	7.00 x 7.25	50.75	16	9	10	8	6	-	6	-	-	Yes
Meeting room 7	7.00 x 7.25	50.75	16	9	10	8	6	-	6	-	-	Yes
Boardroom	7.32 x 4.36	31.92	-	-	6	-	-	-	-	-	-	No
Titanic (whole suite)	8.95 × 14.85	132.91	32	-	-	18	15	-	18	-	-	Yes
Titanic 1	8.95 x 7.03	65.34	20	10	12	8	9	-	9	-	-	Yes
Titanic 2	8.95 x 7.03	65.34	20	10	12	8	9	-	9	-	-	Yes
Olympic (whole room)	31 × 12	372	145	-	-	75	45	-	54	-	-	Yes
Olympic 1	9.5 x 12	114	35	10	14	15	12	-	15	-	-	Yes
Olympic 2	15 x 12	180	54	16	18	20	24	-	24	-	-	Yes
Olympic 3	7.00 x 12	84	20	8	12	12	9	-	12	-	-	Yes

HOST YOUR EVENT

- Residential conferences
- Meetings
- Executive lunches

- Private functions
- Press launches
- Product launches

- Exhibitions
- Town Halls
- Training and development days

* no dancefloor or stage

° Ĉ⊷Ĉ



CONTACT



+44 2890 328511 meetings.belfast@claytonhotels.com \bigcirc 22 Ormeau Avenue, Belfast, BT2 8HS CLAYTONHOTELBELFAST.COM

